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QUESTION 1

DRAG DROP 

Match the HPE storage solution with its unique technology? (Choose all that apply.) 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

What identifies devices in a Fabric Channel fabric? 

A. FC-A 

B. IQN 

C. WWN 
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D. MAC 

Correct Answer: C 

 

QUESTION 3

What provides the most usable capacity for an HPE 3PAR StoreServ CPG with eight disks? 

A. RAID 6 with a set size of 6+2 

B. RAID 1 

C. RAID 5 with a set size of 3+1 

D. RAID 5 with a set size of 7+1 

Correct Answer: C 

 

QUESTION 4

Which HPE solution supports point-in-time copies? 

A. HPE 3940 Storage Module 

B. HPE StoreOnce 3520 with Catalyst license 

C. HPE MSA 2052 including Advanced Data Services 

D. HPE 6020 Disk Enclosure 

Correct Answer: B 

 

QUESTION 5

What task can be performed with Library and Tape Tools? 

A. Verifying backup application compatibility 

B. Creating a support ticket 

C. Managing backup encryption keys 

D. Verifying backup schedules and backup windows 

Correct Answer: C 

 

QUESTION 6

The customer has HPE Nimble AF-series storage. 
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What is true when upgrading the unit with Dual-Flash Carriers? 

A. Each bank is part of a common RAID group. 

B. Bank B can be upgraded with an expansion shelf. 

C. Both banks need to be in servicing mode. 

D. All 24 slots in Bank A need to be populated first. 

Correct Answer: D 

 

QUESTION 7

A customer has the following backup strategy: 

Sunday to Thursday: Daily Incremental Friday: Weekly Full No backup is run on a Saturday Backup window is 22:00 -
04:00 

They suffer a catastrophic failure on Thursday at 05:30. 

Which backup sets are required to restore the failed system to the most recent state? 

A. last incremental backup only 

B. last full backup plus all incremental backups 

C. last full backup plus the last incremental backup 

D. last full backup only 

Correct Answer: C 

 

 

QUESTION 8

You have sized and designed a new HPE 3PAR StoreServ system for a customer. 

Which tool will help you configure and provide initial pricing? 

A. HPE OneConfig Advanced 

B. HPE ActiveAnswers 

C. HPE NinjaStars 

D. HPE Storage Sizer 

Correct Answer: D 
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QUESTION 9

What is the difference between RAID 1 and RAID 1+0? 

A. RAID 1+0 is a stripe set spanning mirrored drives and RAID 1 is a mirror 

B. RAID 1+0 requires at least two disks and RAID 1 requires at least four 

C. RAID 1+0 is more storage efficient than RAID 1 as more than 50% of total disk space is available for data storage 

D. RAID 1+0 can sustain the failure of any number of drives in a set while RAID 1 can sustain one drive failure 

Correct Answer: D 

 

QUESTION 10

A customer is moving their storage from HPE ProLiant Servers with direct attached HPE D3700 storage shelves, to
HPE StoreVirtual VSA. The customer is concerned about management capabilities. 

Which tool should you demonstrate to the customer? 

A. Storage Management Utility 

B. Centralized Management Console 

C. InfoSight 

D. StoreServ Management Console 

Correct Answer: B 

 

QUESTION 11

What is a benefit of the HPE MSA architecture? 

A. offers ASIC-based hardware acceleration of thin technologies 

B. supports direct SAS connection for up to four servers per controller 

C. uses HPE ProLiant Gen10 server technology 

D. offers in-line data deduplication and compression 

Correct Answer: B 

 

QUESTION 12

A customer is concerned about the risk of data loss as users\\' files and documents locally on individual laptops and
desktops. 

Which HPE storage product family should you recommend to address the customer\\'s concern? 
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A. HPE StoreEver 

B. HPE StoreOnce 

C. HPE StoreFabric 

D. HPE StoreEasy 

Correct Answer: D 

 

QUESTION 13

A customer has replaced their old 4Gb SAN switches in two on-premise datacenters. The new 32Gb SAN switches with
SW optics fail to establish connectivity with port speed set to 32Gb. 

What could cause this connectivity issue at a specified speed? 

A. The port butter credits are set to a lower speed. 

B. The length and type of multi-mode fiber between data centers. 

C. The ISL links need to be configured with LW optics. 

D. The lack of Fabric license on the switch. 

Correct Answer: A 

 

QUESTION 14

What is used to create connections between Fibre Channel SAN Switches? 

A. ISL 

B. NPIV 

C. FCIP 

D. FCoE 

Correct Answer: A 

 

QUESTION 15

Which user interface must be used to create new storage volumes on HPE MSA storage systems? 

A. HPE Centralized Management Console 

B. HPE OneView Global Dashboard 

C. HPE Storage Management Utility 
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D. HPE Pool Manager 

Correct Answer: C 
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